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MifTH H 20134 6 H 25 H
A& HI77LvR%R 3%
AfHEE BIE
B4 1200 7 420 5 240 5/ 120 7 60 J75m
A 2 20134 6 H 22 H
I S 4 M B TR S T E 4
& 1 IN=RTARXF AR 3 el )G B2 10,835,000
& 2 HABA 3 R KO B2 12,980,000
3 FTAT—F )L 3 EHIE KO A3 20,000,000
4 TV AA 3 HHIE WS B2 12,190,000
5 T AT — )L F A 3 EERE RS B2 11,650,000
6 BT T nE 3 JERME KR B2 11,390,000
7 FHFUL R 3 JRE IR B2 9,840,000
8 T VAL B3 EE#Hm KIF B2 9,805,000
9 ARYLT 2 AH 3 bBEE K B2 9,460,000
10 RAT 4 A A #-3 HESL Kt B3 8,975,000
11 TV B3 HEAREE RS B3 8,965,000
12 I XX AT — 3 EEE K B3 8,505,000
13 T4 TN = VT 3 HiHEZE G B3 8,330,000
14 7 — LR AT )L A B3 KEM ORI B3 6,856,000
15 N—tr T M3 AR B3 6,740,000
16 RY—LZ A L 3 BRHEE K B3 6,308,000
17 Fat 7 — M3 SFHEET Kot B3 6,235,000
18 Va—L vk M3 TRy KO 37k 2,996,000
19 ~T=r 3 BRTHER L KO 3k 5,900,000
20 N LRILR M3 EREE S 37k 5,511,000
21 Ja—i /by h 3 ARSI 3k 9,284,000
22 TAT F—2— b3 KRR G 3k 9,220,000
23 ARET Ya—)b 3 R ORI 37k 0,176,000
24 7Y <Fa—h 3 R RIS 3 4,570,000
25 7Y ey — B3 R RIS 3K 4,531,000
26 TR RA 3 EREE ORI 3k 4,242,000
27 A=A Y% 3 ZFE ORI 3 3,380,000
28 VA PEVA B3 EBEZE ORI 3 3,342,000
29 HATHE T 4— M3 BT KO 3k 3,205,000
30 U=ty MR X— )b B3 EBEE KR 3 2,910,000
31 Ul 3 R KO 3k 2,500,000
32 Va7 N7 T4 L B3 EBER ORI 3 2,245,000
33 ~AXYTZ 3 EEE N KOt 3% 700,000




